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CHAD PERFORMANCE PLANNING CARD (PPC)

) The purpos of (s discusson s o
pplemen Tk 1004, Pepare a DA For A87-R
{30 erformancs Pagning Card (PPC) i the CHL1T
AT (TCE216)

2) By oo means i hs gude nended o
g TC12161 Howesr, i gide § ftendd
xpand and clasiy e explanaions giva in TCI 216,
s give precstexamples on e 4 of e PPC

NOTE: Ths i my thovgis an cing = PC
The ATM, -10, and your il bave te s rd o
i 0 i ot e PEC

1) ITEN 1 - DEPARTURE PA

) Place the A for your sl ke e b,
B EXAMPLE: 500 fut
©) HOW OBTAINED: From th westher repo
D) REMARKS: Use tis PA arly wher iguting
1) Valdaton Fctor (e 26).
2) redicied Hoves torque (e 13/14)
5) Hover OGE targee (lem 1516).

2 ITEM 2 - HGHEST A

) Plae the bghes PA fo e misson e
B EXANPLE: 1000 fect
©) HOW OBTAINED: From he westhe ez,
) REMARKS: Use thix P for fgrin all o o
PrC éasacpt o

' Validaion Facor e 20,

21 Prediced Hove torque e 1514).

5) Hover OGE torque (fem 1516

3 ITEM 3 - DEPARTURE FAT

) Plce the EAT for youe sl akeoff s e
B EXAMPLE: 4217 C.
©) HOW OBTAINED:  Ask the weatrerman.
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[image: image2.jpg]D) REMARKS: Use his FAT gnly when figuring:
1) Validation Factor liem 24)
2) Predicted Hover torque (Tiem 13/14).
3) Hover OGE torque (liem 15/16).

4 ITEM 4 - HIGHEST FAT

A) Place the highest PAT for the mission hece.
B) EXAMPLE: +30° C.
C) HOW OBTAINED: Ask the weatherman,
D) REMARKS: Use this FAT for iguring all of your
PPC data except for:

1) Validation Fcto (Tiem 26)

2) Predicted Hover torque (liem 13/14)

3) Hover OGE torque (lem 15/16).

5) ITEM 5 - Takeoll GWT

A) Record your acual gross weight a takeof.
B) EXAMPLE: 31,000/42,000 Ibs

C) HOW OBTAINED: 31,000 Ibs is acrew of 4 plus
(b aircrat’s fuel tanks ull of ful. 42,000 Ibs s the
weight of the aircraf when an external load i picked
up laer i the Might,

D) REMARKS: None

6) ITEM 6 - Load

A) Record the max weight of the load during the
B) EXAMPLE: 0/14,000 bs.

C) HOW OBTAINED: From mission bricfing.
the weight o the aireraft empty. 14,000 bs s the
weight of the external load to be picked up lte i the
fight

D) REMARKS: This is 2 useless figure 0 use 15 far
as fguring the rest of your PPC. lem $ alceady has
this weight incorporated. Put i in only for eference
purposes

o ST e

A) Record the fuel weight at akeoff,
B) EXAMPLE: 62003500 lbs.

©) HOW OBTAINED: 6200 Ibs s the weight of the
el on iniial akeoff. 350 1bs is the weight of the
il when the external load is icked up.

D) REMARKS: This s a useless figure o use as fr 1
fguting the et of your PPC. Tem 5 alceady has his
weight incorporated, Put it i only because the ATM
states o put it in.

8) XTEM 8 - Max Torque Avail (Dual Eng)

) Use the Max Torgue Available (10 Min Opecaton)
chatt on page 7

B) EXAMPLE: 95%

) HOW OBTAINED: Enter at +30° C, move
Rorizontally 1o 3 PA of 1000 fect not o exced the
limit line at 100%). then verticaly down (0 95%.

D) REMARKS: This is the planned torque number
hat represenis the maximum output tha bath of your
engines can produce todsy under these conditons.
Supposedly, f you pull in 95% of orgue, your engine
DTITs wil ead 890 degrees C (your max 10 min
engine PTLT limi). 1 you came fist (o the fini
£ 1007% on the char, then 100% torque would
fepresent he max posier that your Iransmissions can
llow 10 be produce today (your engines could produce
more power i you desied, iU’ just that the
ansmissions won't Let you),

9) Ttem 9 - Max Torque Avail (Single Eng)

) Use the Single Engine Enm
chart on page 7-5

B) EXAMPLE: 103%

€) HOW OBTAINED: Enter at 30 degrees C, move
Horizonally o PA of 1000 feet (ot to exceed the limit
line 1t 123%) then vertially down 10 1035

D) REMARKS: This s the planned torque number
hat reprasenis the maximum ouipu that only o of
your engines can produce today.. Supposedly, i you
pull in 103% wilh you having only 4 single cngine,
your engine PTIT would be 930 degeees (your max
Single eagine emesgenecy power PTIT limio). On the

iy Torque Availsbl





[image: image3.jpg]e, i you would have ome fst o e it line of
123%, then 123 would reprsentthe max pover it
yous iransmissionscan allow o b prodice tdiy (your
engine could produce more paver i you desired, s
s he tsnsisions wou't et you).

10) Teem 10 - Cont Torque Avail (Dual Eng)

) Use the Continuous Torque Avslalechar o page
7.

B) EXAMPLE: 66%

C) HOW OBTAINED: Enter 3t 30 dgress, move
Hotizonally (0 PA of 1000 fst (it 1o exceed he
limittin 3 100%), thea verially down (0 66%.

D) REMARKS: Thisis snotr ucles numbes 10 use
o fguring the rescof your PPC. A torque of 6% in
his case s suppose (0 equal what the trque Exuge
acs whenthe PTIT is 80 degtees (e (op of the
secen continious PTIT ). We pot it down bcause
ihe ATM stts 0.

1) Hem 18- €

 Torque Aval Single Eng)

) Usethe Continuous Torque Availabe Chirt on
Boge 7-11 (b same char sed i fem 10 sbave)

B) EXAMPLE: 66%

) 1OW OBTAINED: Enter 3130 degres, move
Horiontally 12 PA of 1000 fes (no texceed the
Vit i 2 100%), then veticaly dowa (0 66% (This
is the same procedice a8 tem 10 sbove).

D) REMARKS: Another wseess b, The
semarks are the same s lem 10, In addton, you
could have obaind the 6% by Tookin s he ruse
s, butthe sbove way i by fa esie 3nd more

12) 1tem 12 - GOINO-GO Torque (OGEAGE) (bust
o)

) Use the Hover chart on page 7-13.
B) EXAMPLE: 1) GolNo-Go torque while st 2 10
oot over is 83%. 2) Go/No-Go orque while a1 .40
oo hover is 925,

C) HOW OBTAINED: 1) To obtin s Gofo-Go ata
10 foot over: Bncer he chart 3 the masimum sl

engine orque avallable btsined i Tem § sbove (95%).
Move veriealy p to tse OGE/SO foo i and
Borizonaly 0 the 10 foo line, Then move down 10
83%. 2) o obiain a GorNo-Go torgue a3 40 foo
hover (or exteraal oads):. Eate the chart st
masimum dual engine torque vailsbisohisied i e
8 sbove (95%). Move verically p t0 the OGEI0 foo
line and horizontly 0 the 40 oo in. Then move
down 10925
D) REMARKS: Go/No.Go torque repesents  torquc
hatwill llow you to make a decison: whelht 10 Go.
of No-Go. But, that decisio to Go or No-Go ONLY.
el 1o whethér you hve saough power (0
sccomplsh an O of Ground Effses (OGE) maneuver.
The mancuvers that eguire OGE power availsbe s
1) ITO. 2) Pinnaclrdaeling oprstons, 3) Extemsl
load opscsions. 4) Terai ight. 5) Termin tight
akeoff, ) Terain ght appcoach. 7) Dsking and
unmasking. ) Terain ight decelrstion,

I you Have an nernal oad, then you st
make you Go or No-G deison (or OGE maneurers)
whie You ae hoverin ot 8 sorml 10 00t af gt
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[image: image4.jpg]Hover. 1 you canno bovr a3 10 faot 3 geasheght
becave you have an extemallos, he e your Go.
or No-Go deision wiileyou ae Foveing a3 eight
hacwill s e estrna fond ¢ 10 et In s
example we ae uing 4D fot 3l i hover eigh.

Reinrnbe, s GorNo-Go orque dedls ony wiih
your dcision s 0 Whether you have e pover o
accomplish OGE mineuvers (gt In Ground efcet
mancavess,

NOTE: Seratch through the "IGE" posion of s
e on your PPC. This s ot used by us

NOTE: There s o sngle engine GoiNo.Go
{otgue, s lesve he sigleengine secion ek

13) Tiem 13 - Predicted Tover Torque (Dusl Eng)

) Use the Hover chaton page .15
B) EXAMPLE: 25/70%

) 1IOW OBTAINED: (Remermbe, use setu] AT
and PA condions aakeot). Prediced hover torque
2010 et Ener 51500 et PA. move Boriontly o
201 C, down 10 31,000 s, el 151 10 foot whcsl
g and then dowa 1 cead 4255, Prdiced o
orgue o 40 fet Eate 1 500 et PA, e
Horiaatlly o +20° C, down t0 42,000 10, e 103 40
oo it wheel height axd dows t0 70

D) REMARKS: A ke planaing bl compire tis
{orgue with M Torque Avsiabi (len ) and your
(GONOLGO torue (e 12)t s i you will excesd
o0t powes limkatons o not. Als, e his Lo 10
check your trgue gasge (Guring your Hover Pouer
check) o e i he weight of your Lo i generally he
same 35 you had planec,

14 Tem 14- Peedicted Hover Torque (Singl Eng)

A Use the Hover Cht on page 715
B) EXAMPLE: SI%INA (140%)

©) HOW OBTAINED: Double th vauss from I
.

D) REMARKS: You are oo s utingrumbers
Gowa on s pice of pape. You should ongare thse
0 qumbers of B471/140% wih e 9, Max Torque
Avail,Single Engine (103% inthis cxamplo). 1 you

e aves 103%, hen you Know tht you o't have the
power o hovs siagle gine s e pproprs wheel
heightsof 0 fest4D e, Tis knowledge may hly
you Ttr i yo encounte an o-ght emergency (.
g ) while a3 hove, ¢ sy o sl you 6
make 3 decsion wheer of ot you should pul 1
engine o lne whle Tying. AR cxample of this would
e you gotan ENG CHIP DET caulon lgh - 1+ he
engine requird for Fight”.

“The ATM stts 0 put down "NA” ifhe
acual sinle engine power (140% in (s sxampley
exceeds the ma sigleengine pover (1035 i this
cxsmpl) In addiion o wriing down "NA', you
might waat 10 utdowa te staltogue of ‘L% to
show yau by how much yo s cxceing he max
single cnne power of 103% . This may elp you
mibin deciions,

15) Hem 15 - Hover OGE Torqus (Dusl Ene)

4) Use e Hover char o page 713
B) EXAMPLE: 49%/71%

©) HOW OBTAINED: (Remsmber, us se FAT.
und PA. condiions a kol Prdicted hver OGE
lorgue 31,000 bs: Eater a 500 Gt P, move
horaanaly to +20°C, down 0 31000 i,
oraonaly 19 the OGFISD fo: whee kgt e, e
dowa 10 49%. Prediced Rover OGE sorque at 47,000
10 Eer 51500 e PA, move Borizontaly fo

£207C, down t0 42,000 I, ociznilly 0 the
OGESD foo wheel et v, e dovn 1o 725,

D) REMARKS: Compare this orque (95/72%) with
Max Torgue Avallibl (95%) (e ) o see i you will
exceed youe max It G5%) or 1ol € you exceed it
(95%), then you may ot Hover OGE unies you redce
you veight fs,

16) Ttem 16 - Hover OGE Torque (Single Eog)

) Use the Hover hart o page 715,
B) EXAMPLE: S5%/NA (1465

©) HOW OBTAINED: Dol he value from lem
.

D) REMARKS: Al of the emack s sed sbove i
T 1€ et here oo i th Tllowio excepion: 1
you st over 1095, then you Saow tht you doa't v

the power t hover single cngie while hovering OGE,




[image: image5.jpg]1) Tiem 19 - Max Allowsble GWT (OGE) (Duat
Eag)

) s the Masimum Geoss Weight to Hovercht o
e 714,

B ExAMPLE: 50000 s

©) HOW OBTAINED: Ente the chart st +30°C anc
move down o he PA of 1000 fs. (Sicsthe 1000
oot A line i seady nerscied, o movernet down
s Tquied in s xample Move et 0 50.00 b,
D) REMARKS: You could hav sso used te Hover
car on page 713, but thisvay i fr s,

15) T 15 - Max Allowable GWT 4GE) (Dual
)

) Us the Masimam Gross Wefaht (o Hover it o
e 1.

By EXAMPLE: 50000 s

) HOW OBTAINED: Ente the cht s 430 C an
move down 0 he P of 1000 s (Sinc (b 1000 oot
PA lne s srady incescsed, o movement down
sequied n 1 cample. Move ighi o 50.000 s,
D) REMARKS: You coud have alo et Hovee
carton page 713, bt i way i T i,

19 Tem 192 - Max Alowable GWT (0GE) (Single
Eng)

A) Use he Hover char on page 713
B) EXAMPLE: 31,500 s

©) HOW OBTAINED: Ussthe Masimum Torque
Avil Single En) (e 9) of 1035 Ene o the
botom i sid o the Hover chr at 1035 (o1 the
singecogine orqe sae). An s method i (0
iid 103 il (31,5%) nd hen enier e chir s
51.5% o the dual engio sale on th boto Lt s
of e char). Go up il echin th OG0 oot
e eigh e Draw e 2 you move
Forzonally o the igh nd e he g1 weight
char, Coniaue by eaeng 43 P o 1000 e,
Mo neizoally o +30° . Move dowa s draw 5
Nine unil i lne e your et e, Thie
inesetion’s 31500 T

D)’ REMARKS: You shouid compae s wight of
31,500 I wih your actal ket gross veight of

31,000142,000 . Tis sinlecngi gross weight
Knowledzs may eip you in deteminin th proer i
g emegency procedrs o perorm i cas you lose
anengine (o have 0 decie o whelse 1o s 31
engin o ). In this sxampe, it s cvdent i gl
engi bovering siog OGE [s ot possbl with your
el o ot weght of 42,00 ). Vou would
Rave o eson yourexerl o et ending o an
engioe e

19) e 195 - Max Allowable GWT (IGE) (Sngle
En)

) Use he Hover et o pags 7-13.
B) EXAMPLE: 35.400 s

©) HOW OBTAINED: Do 3¢ you did n e 19,
Ererthe Hover a3 1035 (o1 1.5%). Go up il
sacing he 10 G whec height e, Draw 3 e
ozl o e sgh. Comine by g o the
P 1000 e, MoveHorzonaly o +307 C. Move
donn an s whers s lne et e i e
B3y deew. T recion 33,500 s,
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[image: image6.jpg]D) REMARKS: The same remcks spply hor sz
e i e 19 sbove, I this xsmpe, i s svident
vt your e oad (vhic consit of 3 e of
4 andth aceaf’ ful ks sl of D, you do
have sigle cnins hover IGE capabilly. Ths
Knowiedgs s biehl i the ven you hd an - ight
amergency snd b 1 scsompich 3 single sogine hover
010 e

NOTE: Notie how 1 put " wii i bock
s s me 0 seprate 1 ingel cagie OGE and
GE valus

20) Teem 20 - Max RIC or Endurance 1AS (Dual
Enp

) Use the 2000 (¢ Crise chart o page 735 s i
Tabeld +30°C, 1007 rotor REM,

) EXAMBLE! 6878 ks

©) HOW OBTAINED: Find whersthe 3L000 1o
s weigh ne ntreeswit he M
Enduance and RIC" . Ths rseeon 5 ks
For 3 gross weightof 42,000 s, id were it
ntricts withthe "M e and RIC”
ine, Thi messscton s 74 ki

D) REMARKS: 6678 ks i o th bstscpesd or
single ngin opertons. Thsrelore, with 3 siogle
engine e, b sre 1o st 1 or sbove s
rpeed il youstan s Lndin,

Note: Dou't mistakely st Trs svpeod i,
Use the Infcted srposd sl

21) Ttem 21 - Max Range 1AS @ual En)

) Use 12000 Crise chart o page 735 s s
Isbled 30 C, 100% rotor RPML

B EXAMPLE: 13037 ks

C) HOW OBTAINED: Fid whee the 3100 1o
st weigh lne 51 th 42,000 I gros it e
inerect withthe “Max Range* lne. This ntercsion
is 134 s for 31000 s sad 137 i for $2000 b,
D) REMARKS! Nore

22823 tem 22 and 23 - Sngle-Eng Capabi
185 (MinSingle Eng)

) s e 2000 1 i charton page 735 thit it
labeed +30°C, 100% roor RPM.
B) EXAMPLE: Fora GW of 31,000: 00132 ks,
For 2 GW of 42000; 437110 ks,
©) HOW OBTAINED: Take 112 ofte Sogl Engine
Maximum Torgue Avaisl (lem9) - (12 o 103%
$1.5%). Ente the Crie Chare 53135, Move
vetcally 1 the st ccicton wih e scud ross
weght e of 31000, Tn i exampl, h veial line
does ot eteres 3,600, therstoe et “OGE"
ohic means ta you bave OGE capabiy t s
G, Cantnie p he 31.5% vericl i 0 e
secondinrsalonof 3000 s This rscton’s
152k

To bisinthe minmax Sngle Engine Aisped
(Sin Eng for  ross weigh of 42,000 s do the same
5 sbove, T intrscion of he 2,000 1 curve wih
515% 3 37110 k.
D) REMARKS: This infornstion may be usel o
sou s you rave bnd 3 gl cogine e, 1t
S you he i 4 s e that
o0 can Ay when you anly have one engne.For his
exampe, it  sinleengne it 30 o st
g 42000 b, you wosk ot want 1 go el 51
lspeed o 4 ks o faser han 110 i, 1 you i
exced these afspe imiaions, then you sy exceed
engine PTIT limiations. Ths formation iy be
el o you o detemine your misimum sisecd s
ouchdoun whileconducting 3 sinle engie olon
i,

NOTE: 1 your vt e mver s
your gros weigh s, (en lace ™NA” b biocks,
“Tis means i you o g ave singleengioe
cspbily a1 dha o weigh

26) em 24 - Validation Factor

) Use the Hae Crart o page 7-13
B) EXAMPLE: 805855

) HOW OBTAINED: Use scys AT snd P
exiioga keaf. To abii 10 foot Validsion
Fasor et the chart 4 00 e PA Move
oraansly o +20°C. 1 s exsmpe, move dow o




[image: image7.jpg]182.30.00 1l Move horzonsly et o th 10
oot whel heght . Then move dow (0 0%

o i3 40 foot Validaton Fctr: do e same
3o crcept move hoizonally et o th 40 ook
hel eght e, Then move dows to 85

D) REMARKS: The iy thiog hit you st vlidaing
by ving the Valdaion Fator s thtyou il et
csaed 0,000 1o ross welght. To eoce it you
o' xceed 0,000 o with it o, you
vy us 3 10 oot el Beght. This check s
accomplshed dura your over power chosk. 1 you
have an cxconl o, e you ae cheskin your
Valdaion Fator whilehaveing withth osd 10
oot Hover (hace wsin the 40 fooswheet beght e on
b chart . In this examgle, he 40 fct 7 fared by
adiag he reguicd 10 oo e whee hight pus (e
lingead heighof 30 et i cquls 20 e

1, duing your 10 ot o 40 foo over po
ek, you exceed th Valdsion Fcor (of 05/55%
o s i) ten you s exeeding 50,000 s
10 weght fo you st To enrs oursel
Jou vt exced the Vaidation Fator i do
Jour acul Rover power <hick, ook 3t yous PPC -
Compae youe Vlidaion Faio (8% or B8% i hi
xample) i you gt hover forgic o your PPC
(len 33425 3210 oo bover o 0% 1340 fox
hove I i cxampl, 425/70% docs ot el
SO terlore, 1o know tha you will 1t 80
over 3,000 5 Wi s mison.

Noe: [ usd 50,000 1 i s exampe becaus this s
my macmum slovabl goss weiht fr s mision
exprssed o ke 17 0 e 15.

25-36) Tems 25 thrw 36 - Aseval Data

) I equived, se e same cha s cxplined i the
aplicabie fems abore

1) Tom 37 - Fudl Management

) Figore s out e cocki
) EXAMPLE: Lenc bk

) HOW OBTAINED: N

D) REMARKS; Tais s Jst s comvenicn e fo
o0 0 doyoue Rl commumpion shek,

55) e 38 - RET Ve

) Use the Recated Longaias Cycic Trim st
o page 312

B) EXAMPLE: 55770 ks

©) HOW OBTAINED: Eer he chart 428" C the
emperte s rusing sitsde), mave horionialy o
2000 e (e Highes st crvsing i) Then
move down 1 he Sgpropisc 810 weight 1 thn
move ozl It s he inicie e
Tae indicud ispecd for 3 rose weght of 31,000 1o
193K for 42,000 b, 70 ks,

® e o —
o @ i |mm ©
" ® [m ® -

funinl =

= r— o 5

B) EXAMPLE: alftems ae et blank. e mami

) HOW OBTAINED. I reuire, you i thse e

o jut 2 dcused sbove. B

D) REMARKS: Artivl s nec nctbe fled o it e

you e st iz your gross weight by 000 o, [P
cd i FAT by S or e b PA by 1000 e

= o





[image: image8.jpg]D) REMARKS: You should itepolse btween the
gros weght lnes, if require.

59) Tim 39 - Prog Ve

) Use the Inope Crose Guide Tdicxor hart on page
s

B) EXAMPLE: 1611145 s

© HOW OBTAINED: Enterth chart ¢ 426" C (e
temperatue st g situde). Move hoizonaly o
2000 et e highest deseed ruising liude. Move
down 10 the gross weight i of 31,000 Move lft ind
030 161 ks eep his mmber of 161 Kis i minc.
Reentr he chart 3t +25° C and move horizomalyto
2000 et Move down o the emperaare line of
5. Mo Ieft 3nd esd 156 K. Go o he
emperatue adusiment char (i the Hght (09 cornee of
e Bottom clar). Bt the chart a 31,000 1. Move
vight ] you i he fxed stanted line. Move down (o
ead 7 i Inccase by 7 K the airspeed you sot from,
iguring with the empecature (156 ki) This cquls
163 5. Compare s 163 kis with 161 s nd tske
ihe lower (161 ki) of the two. This i your max Ve
withan nopt Crufe Guide. Usig the same procedure,
figue the Vr with 3 oss veight of 42,000 . The
sl s 145 s

D) REMARKS: Above, we fust igured the Vae (161
) for an Inoperaivecrise gude. Your Vs with
operaise Crute Guide is 170 Kis ar the acus i
Guide Indiatr, whichever comes ficst,

49 tem 40 pa

) Record plamned evise PA.
B) EXAMPLE: 2000 feet

©) HOW OBTAINED: Your decison
D) REMARKS: None

41 Hem 41 - FAT

) Resord foecast FAT at eruse sl
B) EXAMPLE: 28
©) HOW OBTAINED: Standurd tempertue spse
e orthe wester .
D) REMARKS: None

42) Ttem 42 Crufse Speed (1AS)(Dual Eng)

»
Snising.
B) EXAMPLE: 120 ks
C) TOW OBTAINED: Yous decision.
D) REMARKS: NONE

e wha idiced s

rspeed you dsir wile

) w43

Speed (TASNDual Eng)

) e the 2000 Cruis chart on page 7-35 this.
Isbeled +30°C, 1003 rocor RPM

B) EXAMPLE: 128 ks

©) HOW OBTAINED: Entr the 30°C chart at 120
s ndicaed airpeed. Move dghe il you teach ihe
Troe Aspeed scale and cad 128 ki

D) REMARKS: Except when using he Drag chirt
Cexplained ), s i usles nfoemstion 0 104 for
Flingou s PEC.

) o 44 - Croise Speed AAS)Si

A) Plce tem 20 here
B) EXAMPLE: 6976 kis

€) HOW OBTAINED: From Jem 20,

D) REMARKS: ltem 20 i the bt sinle engine
ispeed. Therefore, you should plan on fyin this
esped fo7 3bove) when you have a singl en
faure. Notice that e ce bresking i s inio tvo
et singe engine airpecds. One Scspeed i fgured
without the exermal ond (6 K1) s o siepesd s
igueed with the externl Ioad (78 K15,

45) Tiem 45 - Cruise Speed (TAS)Single Eng)

) Use the 2000 R Cruise hart on page 7-35 that s
abeled +30°C, 100% rolor RPM,

B) EXAMPLE: 7937 ks

€) HOW OBTAINED: For a gross weghtof 31,000
165: Euter the 30°C chare ¢ 68 ks ndicted aispeed
rom iem 20, Mov right il you resch the Trie
srsped sele and read 78 i, For 3 gross weigh of




[image: image9.jpg]42,000 s Enter the chart ¢ 78 ks it srpaed
rom e 20). Move ight and read 8 ks

D) REMARKS: This s useles information o you in
relonshi o illing out the PEC,

) Tem 46 - Cruse Torque (Dual En)

A) Uss the 2000t Crvise chart on page 735 tht it
abeld +30°C, 100% rovor RPML.

B) EXAMPLE: 44/56%

C) HOW OBTAINED: Use he Intiated Crvise
Airpeed or dusl engne in i 42. This ispeed i
120 k. Ente the S0°C chart o 120 ks TAS. Mo
right il you eseh 2 guoss weight of 3L000 s, Mve
down 0 Tead 3 ruse torgue o 44%. Do he sime
procedure fo 3 goss weigh of 42,000 Ibs and 1034
crise orgue o S6%.

D) REMARKS: This informaion could b useol 1o
you durio an LFR Oight when you want o esibish s
Teve figh euse orqe.

Note: For externallosds, aditanal wrque i resred

) Use e 2000 5 Cnise char on page 7-35 tht s
Isbeled +30C, 1008 rotor REM

B) EXAMPLE: 222572573 lbs per bour

C) HOW OBTAINED: For a gross weight of 31,000
I e the J0°C chrt 3 the cruse forqe of 4%
(e $6). Move vp 3l e vy 10 e 2225 I pec
Boue. For agros welghtof 12,000 bs: Enir e
char ¢ he e Logue of 56% (ke 46). Move vp
L way 0 ead 2575 s pec houe.

D) REMARKS: This numbe should corelt with
cockpit el o indicators,

45) tem 49 - Cuiss Fuet Flow (Single Eng)

) Use the Singl Eagive Fuel Flow chrt on pge 7-
112,

B) EXAMPLES 137571600 s per hour

) HOW OBTAINED: For s gross weigh of 31,000
i er the eyt 3¢ he sxpecied Single Engine

1o drsg the lod theough th s heetoe, you should
i th drag chart on page 7-105. Then add s s
om0 your regular tecmt lad e o

) Hem 47 - Cruise Torgue (Single Tng)

) Use the 2000 Crais chton page 735 st is
abeled +30°C, 1005 rotor REM.

B) EXAMPLE: 64%/90%

C) HOW OBTAINED: For  gross weightof 31000
;. Use the indisted crise sispeed for singl cagine
in lem 44, This sirspeed i 68 k. Eavr he 30
char 2 68 ks IAS. Move right o rech a gross
weght of 31,000 s Move down t rea a crse
orque of 325, Since we ncd 1o cbain sinel cagine
{orque, doutle i 1o 64%. For 3 gros weight o 42,000
Ths: er the 30 char 78 ks (e 46) and do e
ame proceduces 3 above loran anwe of 0%,

D) REMARKS: Nore

45) e 48 - Cruise Forl Flow (Dusl Eng)
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[image: image10.jpg]e Torqe o 64% (e ), Move right 104 PA
8 2000 e Move down o 1658 375 s perhour,
For a gros weigh of £2000 s Ente the chart ¢
90 (lem 4. Move gt 0. PA of 2000 fst,
Mo dowa to e 1500 o p o,

D) REMARKS: Noae

500 Ttem 50- Optin:

Data

e i you s

517 Ttom 51 - Single Engine Servics Coling

4) Use e Siagle Engin Servi Cellig har on
e 9.

B EXAMPLE: 44,500 1o

© HOW OBTAINED: Eatr the chae s +25°C
your dsired e fve emperatre. Move down 1o
yourdesied s fgh v o 2000 et Move 1
i e 48,50

5 REMARKS:

NOTE: Node tha you o o b 3l 51°
Vit the ATM. 1 e added tis e el n
e 10 ke the T o,

Single Engine Servic Celiog i mporan informion
i il should know i the Tigh. 44,500 1
reprsess he ma weght n whichyou can o
Icul gk - when you bave only e cnsioe.
Supposaly, i you weight mose (44,560 s, you
il 0l ot of the sy 16 i
petomance lnping umber 1o e avare of i you
Sould s sn nine.

GOOD PLANNING AND HAPPY FLYING!
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